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6. ABCDEFGHNKLMNO';{_‘_‘
STUV\NXYZ o M' , sonefheronlybrothertsthebrother

- Which letter i in thi -alphabet sthe 7S of iy wife." " Ho -!?s:the ladyreiated
i ;é*i f- i1 eé ¥

HE e :" s E‘Hi . . ) -
¢ tght ettertothenghtofthefetterand ; tothe man’? et (%)
SR s \ : . i v
. (A) A MOther's SIster

(B) Grandmother‘ v

e,

| :;(A)' *, Y ;‘m Q‘!}ii'i ; g

*Bz ( ) . ;, TRy u"ff\ 1‘ *f;’
(C)
(D) _H

and F C :s the s;ster f'f‘fF B IS the
R e R , brotherofE’s husband Dlsthefaiher ;
7. a,lf iih b fr

S youwntedowna t enum ers om , oannd grandfather of F There area :

two fathers three brothers and a
wrste 3 ?

o SOOI o mother in the group Whe ;s ihe |
(A) t S mother? IR

it %,u[ iﬂ i)

8 ‘-- (D)"- Exo A -éﬂ;:;?x.x}"":

'11 A is B 'S SIster C iS B s mother D |s

P N
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foilewmg :statements cannot- be : K Csfather E!S D's motherzThen how

’\\ Ly —;3.,-"',_. e
' lsAreEated to D ')

def n:teiy true 92" : |
(A) Trstfather (A) Grandfather o
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12 N *A woman tntroduées a: m_an as the

Y At son of the brother of hermother How

A4 3,5,5,10,7,41,9,7
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(0) 299%

ty A to G co_st
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Rs,j? but,th tsr;ket$ from CItyAto

- Band two tlckets from caty ’A‘to C
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cmes B and Q from A ? . '.‘
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Rs 4, Rs 23 i oae

(C) Rs 15 Rs 14

(D) Rs. 17 Rs 13
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‘f 8. 583 is reIated to 293 ihthe same\:vay

o as 488 is re!ated to TROT

o (A) 291 . ,:»'f%ié_t-«-{ onropn o
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19,

C ;from' ihé bottom in a class How many

students are there |n the ciass ?

'?iB)U%Z.“' |

o """”'D codedasHUMJTK how'

21 ln a certam code iangtiage

B ,'COMPUTER is wr;ttepi

RFUVQNPC Howw;!l MEDICINE be

.‘»i % 2

- ,wr:tten mthatcode Ianguage?
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'(A) MFEDJJOE
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Bl Tig

(B) EOJDE.}FM

| !(C) MFEJDJOE S

(D) EOJDJEFM
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B _22 If ROSE is coded as 6821 CHAIR

i coded as 73456 and PREACH s

| a» 246?73"_3j;;5"'
(B) 2146731_;
(C) 214763 g

(D)_216473"*"
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24, Findtheoddoneout: (-

(A) Crusade . o
i (g)" 'campaig‘n‘ . ;

| '(C) Expedttton g

(B) _54,r,01,is
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(@ 12010l

| 27. and the number of tnangles m the
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(A') s e o ] PPN
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26,

to cut from a roli of fabrsc He cut each

A tatlor had a numb‘ r'ofkshn‘t pieces |

roll of equaE length 1nto 10 pleces He N

A '- } L

R cut at the rate of 45 cuts a mmute

How many rolls woutd be cut in 24' |
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* 29, Apicture is-copied ontd a sheetof -~ () oy e Sty o

84"

e (D) 2,3 3

- paper8.5inches by 10inches,A15 . - ’ '
S S T ) 2 A OUTTETATE ;

- 31. Determine the number of rectangles

3

AR ('_3;";:»:3{,'}';&:‘31?"‘ 75 e pis :'2‘:’;—,27?-‘;;‘_‘; o ) - ar:‘d he);(agon%in the;fouowing ﬁgure. o
:_-area in-square inches does the - 1o e 0T
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PETERER L T e T e 0

A 1,283

Y

B) 1,384 . |
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' 33 Find {ﬁe'minimum nu;mb'er ofetraigh{',

lines. requzred to make the gwen
f gure ' e

squaresmthegtvenfgure ,

(A)‘ 36 Trsangles 7 Squares
(B) 38 Trlang!es 9 Squares- ;
(C) 40 Tnangtes, 7 S U
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(A) 1 . .“5}"-_ _i,f_"é}
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36,

o ',and 2is opposute 03, thehﬁ
W
- (B)
©

' 34 Count the number of tnang]es and " _
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; _’A dlce :s numbered from 1 to 8 |n-
'-_vhdlfferent ways If ‘I |s oppostte to 5

4i is adjacent o 3 and 6
2is adjacent to4 and 6' e '
4is adjacent to 5 and 6 ’
6is adjacent to 3 and 4 o

.,,“

; -A cube is painted bEue on two.
' adjacent surfaces and black on the '
,surfaces opposate to blue sun‘aces

"l..‘;"*-and green on the remainlng faces

“inthe word ‘;QASTRAPHONE" which
have as mény Eetters betweeh them -

o ’ lntheword as sn the a[phabet‘?




39 How}manymear];ngfulEngI[sh words | _ f - tz) fAroi;s;)gl;c{ﬁATé*‘ R B

SO T 1l ESUPMICTE PR I STH P ST _
can be formed wath the Ietters ESRO (3) » APGP bTA F[AIM
*(4) ANOI‘VNAHAT

) %Ha SNy

using each letfer hly oncé in eachf :
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,(D) 14
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| vemoesofan octagon bmh‘aveonlyone‘ e
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bos&ﬁons A bécomes 15ih ffom the
ST F RIS vty ;E E{

left: i—low many} boys are, there in the |

45, SUPERVISOR%‘H e
(1) ﬂoatvaaque

-

';‘:s"g ,;i Grolinl

e

(3) Haonbaésm o _(A)_23 T A
@) anbEBAloag R e
L(©) 3. i T -

o 4.@3' IfZ= 52andACT—-_
(D)-??‘ii': | -

“be equal o: _“ \

46,

G (A) B0 e e

i ) ;5’0 lf the fil'St and"second-letters in the

20

3
3

© 820

X PR qurcf DEPRESSION““ were,.“_.

@" *

- '475 F:nd the mifror rmagewhentheexact S Tlinterchanged alsothe thlrd and theg.

g!saif o4

'”'-f’fourth !etters the f;ﬂh and the s:xth‘. . '-

fonowuig woutd be the:'seve,nth !etter" ;

iy \aa‘- W\ \El“iii {ais %H

-‘u sx Xz.:j:

48. In a row of 'boys‘ if AWH&&"f’-is 10th‘
"+ fromthe left and B who I$ 9th frém

the r;ght interchanges thelr

-

:z«NC}szlzﬂ '_ R (10)




L *;a.__-l’_’(a) 10004

MATHEMATICS

0. 04 X o 0162 |s equal t0

con e T A AT | o ;—;(A) 648x10"3
L ._: _ ',:.; " @ 648*10_5
| ""-(0) 648x10“4

--."5_"';_,-;;';(0) 643x1o* - )

AT .'-__55'5;‘,['(4894?375) —(439 375)
T asex3Ts

R e S (A) >144
B2 What Ieast numberofﬁve d{glts is e

T ,exactly diwsrble by41 2 ey - :’;:“,{5_7’,‘ RNt

(A) 10045 )
: (D) 4

se. 0, 63+037+080 e RS
L '.-"(A) 4w .
o (B) 1807_:"."--;;" 5

IR R
_f_A"'(B) 181'."""" o

: 57. Two numbers are. respectweiy 20%1' :
S ”and 50% more than athurd number .

S ';,":;;gg_i‘:g,!_.Thesetwo numbers are mthe rat:o:_' -

‘"a_(.L.7°° "3;;‘";114%;';:w-:.:;(Dr;3{§

aJch 2AI20 A e (Tumover)




Originailyhé had ST LA

i (A) : 588apples ’ R S R SRR
SR wEAR a0 Bl -_fA and Bcan doawork 'n,8 days B R
j(B)iGOOappmsjl B | S

) "_and C can do the same' work in:'

o (C) 672 appies_fi ' Lo
S . L 12 days A B and C together can‘_';r- :

. - -
R T '

s, 1 00 oranges afe bought at the rate P Y

"7':_Voffas 350 and sokt_tt ,2* ;?f7”‘*“ v

1

lfRs 48 per dozen The percentage of |

o ';';}‘prof (e itor. Ioss is:

“]f;éifﬁ4%}sgmh'

; g (B) '.,515% gam
L 20

u;«3;¢4 A&ms

5) - 15% loss

R ,’a_nnumls_, e

LA RS20

o NG=2AR0 o e A2),




5 “"“’2 "‘3276 -7 eeth :

(A) m

6471, Bare the foots of & quadratic

equatlon such that a+5=24and

kx+4|s dw:ded by.z .




‘69

x+3y P/ 1then"‘ff'r
0 4 '

7 X . 4

“1ff

* V (.‘;5.
EN

¥ ?" s

va!ues of X and y are

" S
g.:\g, PR

.\‘ -",:

. .-e . ‘(B)' :'-‘:)(.?]1 ’5:;1‘-" i PR

| ”-._Tj('tg,);' 1,7 -

4? f\i

N - R sl s
" ot . :\.‘,_i; -
ST g
[4 0] B |
;
.
H
. c

(C)

(D) None ofthese L

'-‘7‘1.. For whtch value of p, the palr of .

equateons4x+py+8 0x+y+1 0

ian

o has not umque sotutton
(A) 4

N0~2N20 o

the

| ‘B>

;,(é)';'_' 2 _.i iy LI I
72 -'The d|§§r|m1nant of the quérdrat;c
: _equation 2x -4x+3 OIS

- .»:_'(A)_;__.‘_#

73

zj N
"

conmstent i
The patr of hnear equations is. o

e fmconsrstent

. f;:“-"(C) The pa|r of Ilnear equattons ts_ '

mdependent

| ”(D) The palr of lmear equaiions s

PO

dependent
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38 §‘s; if ? 4

¢ 4” n énA P the ?’:fh and sth térms are

5 P el lal G 18 “& o B
11and 17. respectsveiy The 15th term

gsn SR “z_,*"f‘ﬁg

L R
Ty rugy

A A ol Find the sum of first 11 terms of an

Egn T ACPLofwhichthe Sthterm isds:
SO M5 gy

@4z et A

-
IR

o ’: o .
. (C) '497 - i -‘ § ‘V
J‘% w, it . Pae IR . - - o ‘ kS i'i ':E i3 ;ll“ “

75 Wﬁ:ch of the 'fo!iowmg are’ m B (D) 485 IR

T g;g, P

78. A computer companyimust'have 20

:\!z‘;u

;\.-_71 iy

HIFRE :
programmers to handfe system

B : . . '71 i E, ! .j 'f.z‘k,‘; :

programm;ng jObS énd : 307

{\

13‘ .
programmers for apphcatson-

programmmg Of those hlred 5are ",b

expected to perforrh‘;’jobs of both,'

it gtypes Hewmanyprogramm,ers musti

76 Tﬁe sum ofthres numbers mA Pis “ be hared ? it

N 36 andtheirproductss"ﬂtto thsnone . (A) 50; . "! : Ay
ofthe numberls g (B) 45:_;. Lo e dy

- £ }f;
(B) 40 Gl G 7. BE '{i'.'%_? ; (D)25 o B ,sf;l-':'ﬁ}_i

.:»»-%'&Q%{-"é'zmzo LSy i Tuinoier)




79 For an event tf p be the probabllaty

L of the happenmg of the event and q-

5 fhé eveht then htch

g,, ‘fotiowsﬁg istrue?w a

® p‘-?“q ,, (C) 23 ‘_ LR

R (B) Y
| -@_.

(A) 5/36

i}i ll?? "i i% *-’i :

be the probablhty ot‘ not happemng :

f-'ﬁ B
) - st

v

as% number whuch shquld Qe

3 RN sgh;" lH IS f\&!

I_', [(Al-.:.- 3 et

@ ,'13' "
(D) 3o

set of that set has
1’&’ §’}§“g§}§4‘ L ¥
elem_er_;ts .

,U égg 5;1 i‘"‘f

AN

84 Fmd the 'chance cf ;cnckmg= an even

s81w Three coms are tossed Flnd the b :

probabmty of ail heéds&‘ H

(A) 18

4-(8)' A

SEN
PR

(D) 7/8_ o

. . : s

(A%

o,
- .

e

e
R

ENCH SN -

5
o

numbgrg 1_';0 19,0 .

3 . (A) JIOO‘ SR N
: S T G e Whins bl o
. } . ‘K. ' ?"\

- “(B)_ _ g’é o ebredinha it
(D) Noneofthese o -{gia}f

((19)

if a set has n e!ements thenajhe poweri _

v -
number frorr! the senes of natural o

f}cz; i., CQntd |

.




-85, -

| | ;recast :nto spheres of radius 3 5 em.

'_--So the number of spheres that can

' f_.be made ss

NC 2A/20

S marbie§. '-De_terr‘ﬁih“é 'the pf(‘).babilfiy'

of drawmg a whlte ora red marble .

el il S

(D) " 105 revoiutlons J

. The area of the segment of a cwcle :

‘_}f the angle of the sector is, 120° and_ L

o glven by

8o,

~ -_;;(D) 117 041 sq om,

-‘ 'the radzus of the czrcie iS 2‘§ cm is S

:%W

A smgie !etter is seiected at random ‘

*from the word PROBABIL!TY Thek

. probablhtythat itis a vowel 13

HT)

((Tumover).




90. " A and B are two events such that
F’(A) 0.3 and P(AUB) o 8. WA
i:’(ES) is

| "_"(A) R

_"-'(I)u None ofthese

93. A bag contatns 8 red and 6 EIue bails
o 1ts ba!ls are drawn at ranc{om what _
B the probablltty that 3arered and 2 '

,.<._‘ 2\.12

: ((_;) 7 o Lo ,areblue?

;- .(D) Nc‘)ri‘e'of th’e‘ée

| 91 A bag contains 5 brown and 4 whtte
socks Arman pulis out two socks The R
probab:hty that they are of the same [ TR

: colour s’

: ‘9“’“'4 Slas ol

SN S
N Yantd
T
PR 5
si ¢ 1S
VR ) )

92, Two dlce are thrown samultaneousiy
“The probabtlity of getttng a total score

(A) 5 .

NouzaB0 -t Aue)




ln a class of 100 students there arei;ﬁ '
170 boys whose average marks :
| in a smgle subject are 75 If the
' average mark ofihe complete cfass: -
T is 72, then fho : ave{age mark of the

".;.,-,gnrls S5

e e

@8
Gy 74 h

| f’themaree 13,0,17, 14and10 the

) Tth vanate 1s

;-'(A) 12

et
© 17

| -_'(i_;)) s'i1's _' L

)\-l‘
[

97 The med[an of the foElowmg

d:stnbution IS

Welghtln o

No ofStudents (_ o

48

50

52

42

CONGr2aR0

Welgh; in

Ei Ligsiey, iy o ffi

nearesf kg

. No. of students| .

S P SO R
] B s

53

[

d .;55.”

. (B) .53 -
© 52

o) 54") -

-, 9B ,The sum of 7 vanates is 12 Ifsixof fd;stnbutlon s

w0

” : _98. ._The mode ofthe foitowmg frequency' -

o Marks obtamed
o (out if10)

Noofstudents '

b

12

21

Jo|~N|ola]w{n]

SRR
GRS
@ e

(D) None of these

- (Tumover) ..,
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